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INSTRUCTIONS TO PUPILS _
1 Do not tur qver the pages until you are told to do so.
2 Follow all instructions carefully.
3 There are 25 questions in this booklet.
4 Answer ALL questions.
5 Shade your answers in the Optical Answer Sheet (OAS) provided.

_This question paper consists of 20 printed pages (inclusive of cover page).



Booldet A (50 marks)

For sach question from 1 to 25, four options are given. One of them is the correct answer, Choose
the correct option (1, 2, 3 or 4} and shade the correct oval on the Optical Answer Sheet {(OAS).
(25 x 2 marks)

1 Study the claxifwation chart below.

Organism

A
Can it movs from B
place to place by
itself?

Which of the following can A, B and C be?

A B c
(1) Femn | Mould Earthwosm
@ Mould Fomn Fungi
{3) Mould Fungi Fern
{4) Fem Earthworm Mould
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2 Three pupils were arguing among themselves while making comparicons of the following
organiems.

Organism A Organism C

Each pupil then made the folloving statements.

Susan: All the above organisms need food to grow.
John:  Omganisms A and B can move on its own but not organlsm C.
Dawn: Ovganisms B and C contain chlorophyll but Organism A does not.

Which of the above pupil{s) had made the correct statement(s)?

(1)  John only

(¥)) Dawn only

(3) - Susanonly

(4)  John, Susan and Dawn

Weights are added to 2 rubber bands, A and B. The length of each rubber band, as welghts
_are added to them Is shown on the graph below.

L ength of rubber band
{em)
o ¥ Rubber Band B

Rubber Band A

Lovohbeeveoaonandeiigon

» Number of weights added

Based on the graph, what can be concluded abcut the rubber bands A and B?

(1) Both rubber bands stretch to the same length when the same number of weights is
added to each of them.

(2) B requires more weights to be added before it stretches to the same length as A

(3) A requires more weights to be added before it stretches to the same length as B.

{4) When the same number of welghts Is added to the rubber bands, A would stretch
longer than B.
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4 The diagram below shows the growth of a bean plant.

"‘g“ TG

A B c D

At which point of its growth does the bean plant need sunbight?
(1) C oniy
(2) A and C only

(3) B and D only
(4) A B, CandD

5 Study the experiment balow.

¢ Stone

e po -
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What will happen to the water level at X and Y and the volume of water when the stone is
gently dropped into the container?

Water Level at X Water Level at Y Volwmne of Water
(1 Increases Increases Remamns the same
@ Decreases ' Remaing the same Remalns the same
3) Increases Remains the same Incroases
(4) Decreases B Increases Increases
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] The graph below shows the number of daye in each stage of the fife cycle of an insect.

Days
2 4

186

10

Egg Larva Pupa Adult Aduit
female male

Based on the graph above, which of the following statement(s) ls/are brue?

A The insect is a pupa for 20 days.

B The Insect has four steges In its fife cyde.

C There ate more male adults than femaie adults.

D i takes a shoner tims for {arva to become a pupa than an egg to become a larva.,

(1)  Bonly

2 A and D only
(3) B and C only
(4) A, C and D only
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7 An experiment was conductad with magnets of different sizes as shown In the diagram below.

The results of the experiment are recorded in the table balow.

Magnet Number of thumbtacks attracted
1% Attempt 2 Atternot Average
P 4 3 3.5
Q 3 3 3
R 2 1 15
S 5 4 4.5

Basged on the expsriment, what conclusion can be drawn?

(1) The thumbtacks attracted all the. magnets.
(2)  The poles of all the magnets are equally strong.
(3) Meagnet S is weaker in magnetism than magnet R.

(4)  The size of a magnet does not affect its magnetic strength,

8 Joan brought a bar magnet close to a small dish of iron nalls as shown in the dlagram telow.

iron nail

She observed that the magnet attracted the iron nails. Which parts of the magnet would attract

the [east number of iron nails?

(1) AandDonly
(20 BandConly
(3) A,CandDonly
(4) B,CandD only
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& The diagram balow shows the amangement of four bar magnaia.

Which of the foRowing arengemants below is poasible?

1 {2
H G|c o]
°
|F
() “@
H
{ A B|E G
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8

Jean carried out an experiment to tast the magnetic strength of an iron bar when given a
certaln number of strokes. She used the North-seeking pole of the magnet to stroke the iron
bar in the same direction. She recosded the number of paper cbps the iron bar could attract
and plotted a graph.

magnet =

won bar

Which one of the graphs best represents the relationship between the number of strokes
made and the number of paper dips the iron bar could attract?

(M @)

Number of - Numberof t

paper ¢lips | paperchps

attracted | attracted

o 10 20 30 910 20 a0
Numbaer of strokes Number of strokes
3) B )

Number of | Number of |

paper dips paper dips

attracted attracted

-
10 20 30 of 10 20 30
Number of strokes Number of strokes

4
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11 Study the diagram belows. The magnet is glued to the lever ard the lever is fited downwesds
at the magnat

Magnet
(250g)

The diagram below shows what happens to the lever when Otject X is added to the set-up.

30cm 30cm
Lt » - —
Magnet N
(2500)
S
Aeta!
—— m
Object X ' Lever (2009)
7
By i 1

Based on the saet-up above, which of the following conchssions about Object X is definitely
true?

(1) itis a magnet.

(2) Itis made of aluminum.

(3) (tie made of a non-magnetic material.

(4)  Obect X is attracting the magnet on the laver.
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12  Thediagram below shows the human digestive system of aman. In which of the
following parts are digestive juices produced?

(1) BandConly

(2) A BandConly
(3) A, DsandE only
(4 A, B, CandD only



13 The disgram below shows a plant

W
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Which of the following identify the parts of the plant to the correct function?
Makes focd for the Anchors the plant Hokis the plant
.plant fiemly to the ground upright

1) D B C
2) A B C
(3) D C B
) A C B




14

15

12

The diagram below shows stomata on the surface of a leaf.

Which of the statements are true about stomata?

o0 m >

®
*)

It traps light for photasynthests,
It can be found on the underside of the leaves.
it allows only carbon dioxide to enter the leaves.

It allows gaseous exchange to take place with the suroundings.

A and C only
B and D only
A, C and D only
B, C and D only

Betjamin was asked to study the diagram of a cell as shown below. He then
Identified and described the funclion of four cell parts, A, B, C and D.

D

/
75 o O
A! [
(]
B
Lo _0 0 ¢ O

Which of his statement(s) identifies and describes the function of the cell port

correctly?

A C is the cel wall that gives the cell'a regular shape.

B D is a bigger chloroplast that controls all activities in the cell.

] A is the chloropiast that contains chiorophyll for photosynthesis.

D B is the cytoptasm that abows only certain materials to move in and out

()
(2
3
@)

of the cell.

A only

A and C only

B. C and D only
A B,CandD
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16  Jerome places the stem of a plant In 2 contziner of water with red food
colouring. After two haurs, he cuts a section of the stem.

1ad stain

one hour later

—————————

Red-colaured water Cross-gection of the stem

Observe the leaves and the stains on the Guss-section of the stem. What can
you Infer from your observation?

A
B
C
D

(1
(2
(3)
@

The leaves need the red food colouring.

The parts of the stem coloured red transport water.

The red stains on the leaves are food mads by the leaves.

The parts of the stem coloured red are connected to the leaves.

A and B only
B and D only
C and D only
A, B, CandD
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17  The diagram below represents the human caculatory system. A, B, C and D
represent the biood fiowing in four diffarent blood vessels in the systems. The
amrows represent the daection of biood flow.

Lungs

Al 4B

Heart

Other body parts

Which one of the following statemants is Ineorrect?

OO0 ® >

@
3
4)

Blood at A Is richer In oxygen than Biood &t D.

Blood at D is richer in carbon dioxade than blood at B.

The heart pumps blood to only ather parts of the body.
Gaseous exchange takes place in both the heart and lungs.

B only

B and C only
A, C and D only
A B CandD
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5
18  The diagrams below show~4 circuits, A, B, C, D and E.

i I
REEY

I g

- a8 ) 8 |
—_— g |

Circult D
g I

S
g
o

Which of the two circuits can be used o test the effect of the asrangement of
bulb{s) on the brightness of the bulb(s)?

(1) AandE
(2 AandD
(3) BandE

49 CandD
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Dominic tested the propartias of three rods, X, Y and Z using a clrcult tester. A
tick ( ¥’ ) indicates that the buib has lighted up or attracted paper clips. He
recovded his resuits in the table below.

Rods Butb lights up Attracted paper clips
X v 7
Y x ' X
2 v X

Then he used the flow chart as shown below to dassify the rods.

Start "Is it a metan ves Is it magnetic? | Yes a
No No
+ 3
P Isitaconductorof | YeS [
electricRy?

Which of the foliowing letters can be used to represent rods X, Y and Z7?

Rod X Rod Y Rod Z
1) Q R
) P
©) R
@ Q

| U O
D O B O
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20  Danief seis up the circuit as shown in the dlagram below. The bulb does not
light up.

21

swilch ammn

o

- <3

=) /

v

e
buth

What ghould he do to make the bulb flight up?

A
B
C

(1
2)
(3)
“)

He should connect the wire to Z Insteed of Y.

He should flip the switch arm to X instead of Z.

lt':i shouki connact the wires to the metal tip and metal casing of the
A only

A and C only

B and C only

A, Band C

Four bulbs, P, Q, R and S, are connected to two bafteries as shown below.

P

JL Q R

If bul Q fuses, which bulb/bulbs will still remain lighted up?

(1)
2
3
4)

P only

R and S only
P and R only
P,Rand S
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Evan conducted an experiment using a Eght sensor and a datalogger. Evan
shone the torch on Material X and recorded the amount of kght that can pass

through. He then shone the torch on Material Y and recorded the amount of Eght
that can pass through.

Material Amount of fight passing through (unit)
X : 3000
Y 0

He arranged Materials X and Y in the order as shown below.

I

TIWY

torch Maiﬂiaﬁ X Material Y screen

Which of the following is likely the shadow formed on the screen?

(O

(2)

(3)

(4)

000
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The table bslow shows the freezing poirits and boiling points of thres unknown
substances, P, Q and R.

Substance Froszing point (°C) | Bolfing point (°C) |
P 40 85
o 8 88
R 28 - 70

Which of the substances, P, Q and/or R, is/ars kquid at 75°C?

(1) Pony
(@) Ronly
(3) PandQonly

4) QandRonly

in the diagram betow, a T-shaped tubs with two drops of Ink was attached to a
conical flask by a nibber stcoper. The flask was then immersed in a tub filled
with ice cubes,

ink drops
T-shaped tube
contcal flask
B—— nubber stopper
iy .7
b
air
“H.ice cubes

What will happen to the ink drops after 20 minutes?

(1)  Ths ink drops will gain heat and expand.

(2) The ink drops will move towards each other.
(3) The ink drops will move away from each other.
(4) Theink drops will remain at the same position.
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Beaker A contained 200m) of water with temperature at 50°C., Besker B
contained 200mi of water with a tempesature at 80°C. Jayden poured an equsl
amount of water from Beakar A and Beaker B into Container X.

¢
[

® O o U o o @ ¢

e & & ®

Which of the following statement(s) is/are true?

O 0O @m >

(1)
@
()
@

The temperature of water in Contalner X will be more than 80°C.

The temperature of water in Container X will be less than 90°C but more
than 50°C.

The waler from Beaker A will gain heat when mixed with the water from
Beaker B.

The water In Beaker A contained less heat than the water In Basker B
before they were poured into Contalner X.

A and B only

B and D only

A, C and D only

B, C and D only

End of Booklet A



[ & i)

SEMESTRAL ASSESSMENT 1 {2017)

PRIMARY 5
SCIENCE
B80OKALET B
Wednesday 17 May 2017
Name: ( Class: 5.
INSTRUCTIONS TO PUPILS

1 Do not turn over the pages until you are told to do se.

Follow all instructions carsfully.
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Booklet B (40 marks)

For questions 26 to 38, write your answers in this booldet.
The number of marks awarded Is shown in the brackets [ ] at the end of each question or part question.

28 Tom castied out an experiment by putting two identical sfices of bread J and K into identical
plastic bags at room temparatuwe. He sprinided some water onto bread K befors sealing both
plastic bags. The diagram beiow shows the condiion of the two sfices of bread after 3 days. He
observed mouki growing on bread K.

(@) What was Tom trying to find out from the above experiment? (1]

{b)  Where did the mould in the above experiment obtain its food from? . [1)

(¢)  Vvhat will be the likely result of Tom’s experiment if bread K was placed in the freezer
- for 2 weeks instead of at room temperative? [1]

(Go on to the next page)
SCORE
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27  The diagram below shows the [ife cycles of two animals, the cocluoach and the beetle.

Nymph

Aduit
cockroach

(a) Based on the life cycles above, state one similarity and one difference betweun the lifa
cycles of both animals. 12}

@) Similarity:

(i) Difference:

(b) Name another animal that has the same number of stages in its life cycle as the
adult beetle. (1]

(Go on to the next page)

SCORE
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28 Mary filis a measuring cyfinder completely with sand as shown in the dlagram above.

Measuring
cyfinder

Some water Is poured slowly from a beaker info the messuring cyfinder untll R reaches the biim of the
measuring cylinder. When Mary was pouring the water, she noticed some bubbles forming on the
surface of the water in the measuring cyfinder.

(a) Identify the state(s) of matler inside the measuring cyfinder before Mary polred the water
In. ]

{b)  Explain why bubbles formed on the surface of the water in the measuring cylinder when
Mary poured the watsr in. [2)

(Go on to the naxt page)
SCORE
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29  Jack set up an axperiment as shown befow. When he plecad a thin plecs of shest X betwesn the
magnet and the papsr clip, he noticed that the paper clip continued to be suspanded In the air.

o | e 5
nad
Sy —
Retort stend —— e, SheEt X
A— Paper clip
— String
{ 0}
{(a) Based on the above expuriment, state a property of sheet X. I1]
(b) What material can the paper clip be made of that allows it to be suspended in the air?
Explain your cholca. (1)

(Go on to the next pags)
SCORE
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30 Jack set up an experiment as shown balow.

movabls stee! bar

) e
it

VNVVVUNUN

switch :

battery

(@) When the switch In the circuit is dlosed, the buzzer produces a sound. Explain
how this happens. 2

(b)  Jack replaced the steel bar with a gold bar. Describe what he would observe.  [1]

{Go on to the next page)

SCORE
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31  Gabris) placed two plants in identical contamers comaining water 8s shown below.
A layer of oll was added to the waler in each contalner. Hs placed both sst-upsin
the same location.

BT L e

Selup A

The next day, Gabiiel noticed that the water level in Set-up A was lower than the
water level in Set-up B.

(a) Wha*was Gabriel trying to find out in the experfment? (i)
(b) State two other variables Gabriel must keep constant in order for his (1]
experiment 0 be a fair one.
(Go on to the next page)
SCORE
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32  The anows in the dagram below shows the movement of eubstance Xin the plant.

I

lsaves

dr

(@) Whatis substance X? 1

(b) Jack had an apple tree in his garden. it was obsarved that part of the tree was
destroyed by pests soon after.

The part of the trunk above the destroyed bark became swoflen.
Based on the dlagram abave, axpiain why the part of the trunk became swolien. (2]

(Go on to the next page)

SCORE
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In the lungs, ths air tubes branch into tiny tubes that end in gir sacs. The air sacs
ero surrounded by tiny blood veesels. The exchange of gases in the lungs takes
place between the air sacs and the blcod vessels.

The diagram below shows a section of an alr sac i a ung of a human.

blood flow

air sac air flaw

blood flow l \ ——

blood vessel

The diagram shows that Gas X leaves the air sac and enters the blood vessel and
Gas Y onters the air sac and-leaves the blood vessel.

(a) Name both Gas X and Gas Y. (1)
Gas X

Gas Y.

(b) Other than Gas X and Gas Y, name two other substances that will be
transporied in the blood in the human orgah systems., {1

(¢c) MrTan is seated on the sofa reading newspsapers. Name two outdoor activiies
that will iIncrease the rate of exchange of gases In his lungs. 1]

(d) Why does Mr Tan’s hear! nead to pump faster during these two outdoor
activities? [1)

(Go on to the next page)

SCORE
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34  Study the flowchart given below carefully.

Cells
h 4 5
Does it have a cell wak? » B
No
Yes
r
A [
No
Yes
v
leaf cell
(a) Is B an animal cell or plant cell? Expiain your answer. {1]
(b) Complete the flowchart Write a suitable question for A (1]
(c) Give an exampie of C and explain your answef. (&)
(d) What are tha similarities in the cell structure of B and the leaf cell? [11

(Go on to the next page)

SCORE
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Danzed set up two cktuit agrams, A and B as shown below.

;! —2 1'% o—o

3¢ & | &

The graph below shows the refatisnship between the numbser of bettsries and the
brightness of the bulbs besed on the above aet-ups.

Brightneas of bulb
&8
@

—

+  Number of batteries

(a) in the graph above, match the tne graphs to Circult A and Circuit B. Wiito  [1]
Circuit A and Circuit B in the boxes next to () and (l).

{b) What can Denzel do to make the bulbs in Circuit B brighter? (1}

(c) Explain clearly what can be done to Circuit B if ha wants to control the fight
bulbs individualy, 1]

(Go on to the next page)

SCORE
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(d) Inthe diagrem below, draw in the wires to show how you can connact the [1]
batteries and the bulbs s¢ hat the bulbs will light up the brightest.

[ —
G :

(e) What will happen to your circut in (d) if one of tha bulb fuses? 1]

38  Look at the two drcuits shown below.

— ] —
B - 8.8~

Circuit A Cirouit 8

{a) In which circuit will the bulhs light up mors brightly? Give a reason for your (1]
answer.

(b) Give one disadvantage of airanging the bulbs in the way as shown in Circuit  [1]
B.

(Go on to the next page)

SCORE
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37  Jonathan wantad to find cut which material loses heat the fastest He conducted an
experiment on containers made of different material (X, Y and Z) and filled each with
the same amount of watss at the same tempersture. He placed all the comtaimers at
tha same location.

hot hot
water thermomeiar water thesmometer hot ; thermometer
Material X Matenial Y Material Z

The temparatures In each container were teken at five-minute intervals and
recorded in the graph below.

dh
Temperafure
of water 1
o)
A {ires,
—_— \ ‘cdu&.......“ X
b e - e 0v00000casrscsele Y
- e —
= S ——— 7
{ : : % —» Time (min)
0 5 10 15 20
(a) Which material is the bast conductor of heat? Explain your answer. {1

(b) Based on the experimen, which nfaterial is the most suitable for making
conitainers to keep ice-cream cold for the longest period of time? Expiain your
answer. 2]

(Go on to the naxt psge)
SCORE
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Jonaa conducted an sxperiment to find out about the heat conductivity of different
materials. He placed some wax at the top end of 3 rods made of different
materals, A, B and C. The three rods were then placed oh top of a hot plate as
shovw below.

He recorded the time taken for the wax to melt completely at the top end of each
rod and recorded them in the table below.

| Mateclals A B C
Tims taken
(oin) 16 4 22

(a' What can Jonas condude about the heat conductivity of matenials A, B and 1]
c?

() List 2 other variables that Jonas needs to kesp constant to ensura that the [1]
sxperiment s falr.

(c) The diagram below shows a frying pan.

Part X

Based on the results of the experiment, which matesia! is most suitable for
meking Part X of the frying pan? Explain your answer. 1

End of Paper SCORE
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Q26) (a) Tom was trying to find out if mould needs water.

(b) The mould obtains its food from the moist bread.

(c) Bread k will not have mould growing on it.

Q27) | (a) (i) Both have egg-stage.

(i) A cockroach has 3-stage lifecycle while a beetle have a 4-stage life
cycle.

(b) Butterfly

Q28) (a) Gas and solid.

(b) Asthe sand is a solid, it has a fixed shape. It will not occupy the air
spaces in between. When water was poured in, the water will occupy |
the space previously occupied by air, water poured in fills the spaces
previously occupied by air, air then escapes and bubbles are formed.

Q29) (a) Itallows magnetic force to pass through.

(b) Cobalt. It is a magnetic material, the magnet will attract the paper clip
and therefore the paper clip will be suspended in the air.

( note: paper clip can be made of any magnetic material, as magnetic
material can be attracted to the magnet) |

Q30) (@) When the switch in the circuit is closed, the battery will let the electricity

Pg 1l



flow to the wire, the wire coiled around the iron rod will allow the iron
bar to be a partial electro-magnet, the iron will then attract the movable
steel bar and now electric current could flow to the buzzer and the [
buzzer will produce a sound as there is a closed circuit.

(b) The iron rod would not attract the gold bar and therefore the buzzer will
not produce any sound.

Q31) (a) If the roots absorb water.

(b) The plant must be of the same type. The amount of water must be the

same.
Q32) (a) Food.

(b) As one part of the phloem was removed, the food made by the leaves
was not able to be transported to the lower part of the plants as the
food-carrying tube (phloem) was destroyed.

Q33) (a) Oxygen, Carbon dioxide

(b) Digested food and water.

(c) Running or swimming.

_ | (d) To pump blood that has more digested food and oxygen.
Q34) (@) Animal cell. Itdocs not have a cell wall.

(b) Does it have chloroplast?

(c) Root cell. It does not need zhloroplast as it does not make food.

(d) Both have nucleus, cell membrane and cytoplasm.

Q395) (a) (i) Circuit B
. (ii) Circuit A

b. Add more batteries

c. A switch could be placed on both right side of the bulb

d.

B o)
e. The other bulb will not light up.
Q36) (a) Circuit A. Both circuits have one battery but there is only one bulb in
circuit A and there are 2 bulbs in circuit B. Hence circuit A need not
share the electricity. A
(b) If one of the bulbs fuses. the other bulb will not light up.
Q37) (a) Z. It allows heat lost in the shortest amount of time.

(b) X. Itis the poorest conductor of heat and the ice-cream will gain the
lcast heat. -

Q38) (a) B is the best conductor of heat, A is the second best conductor and C is

the worst conductor of heat.

(b) The wax must be of the same kind. The rods must be of the same
height.

(c) C. Ittook the longest time to gain heat so it is the poorest conductor of
heat.

Pg 2
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